INSTALLATION

[WINDSHIELD TRIM for ROAD GLIDE 1309 ]

PARTS INCLUDED
1 Right Windshield Trim-Black
1 Left Windshield Trim-Black
1 Middle Windshield Trim-Black
1 Hardware Kit Including:
4 Windshield Trim Standoffs
4 #6 Lock Washers
4 #6 Flat Washers
4 #6-32 x 3/8” Button Socket Cap Screws
1 Installation Instructions

Please read and understand entire instructions before starting installation.
THANK YOU FOR CHOOSING KURYAKYN!

IN ORDER TO PROTECT YOU AND OTHERS FROM POSSIBLE INJURY AND/OR
PROPERTY DAMAGE OR LOSS, PLEASE PAY CLOSE ATTENTION TO ALL
INSTRUCTIONS, WARNINGS, CAUTIONS AND NOTICES REGARDING THE USE
AND CARE OF THIS PRODUCT.

This indication alerts you to the fact that ignoring the
contents described herein may negatively affect product
performance and functionality.

NOTICE IF INSTALLING THIS PRODUCT FOR ANOTHER PARTY,

PLEASE MAKE SURE THEY RECEIVE THIS COPY OF THE
INSTALLATION INSTRUCTIONS SO THEY ARE AWARE OF
THE IMPORTANT INFORMATION CONTAINED IN THEM.

TOOLS SUGGESTED
Set of Hex Wrenches, Set of Torx Wrenches, Set of Combination Wrenches, Phillips Screwdriver

STRICTLY OBSERVE THE FOLLOWING GUIDELINES IN ORDER TO USE THE
PRODUCT PROPERLY AND AVOID POTENTIALLY DANGEROUS ACCIDENTS.

STEP 1 Read and understand all steps in the instructions before starting the
installation. Park the motorcycle on a hard, level surface and turn off the
ignition.

NOTE: Pictures shown are of Chrome parts. Installation of Black parts will be
the same.

NOTE: will also fit ‘09 and later CVO Road Glide models if OEM trim is
removed and HD part number 58705-98D, windshield trim, (purchased
separately from your HD dealer) is installed prior to installing our
windshield trim.

-cont.-



STEP 2

STEP 3

STEP 4

STEP 5

STEP 6

NOT'CE It is the installer’s responsibility to ensure that all of the
fasteners (including

Starting with the right side, remove the two windscreen screws, one at a time and install a

windshield trim standoff, reusing the plastic washer. The center —— T Wy

windscreen screw will not be removed. See PIC.1 and PIC.2. PIC 1 r"- REMOVE THESE SCREWS I Vg
! s = - y

.,

™ ) 7

‘ Kiryakyn

Repeat STEP 2 for the left side.

Install the right and left side trim pieces using a #6-32 x 3/8” A
Button Socket Cap Screw, #6 lock washer and #6 flat washer in the
rear holes only (see PIC.3) do not tighten them yet.

P
|PIC 2 [ INSTALL STANDOFFS

Place the center trim piece in place over the right and left trim pieces as
shown in PIC.4. Secure with the #6-32 x 3/8” Button Socket Cap Screws,
#6 lock washers and #6 flat washers from the hardware Kkit.

Tighten all of the screws securing the trim pieces.

i.m I e o
s

"‘-.-_._-

pre-assembled) are ‘ - -
- PIC 3

tightened before - ' INSTALL THESE BUTTON CAP SCREWS FIRST . f-‘l.__"'_
motorcycle. Kuryakyn o y

operation of the

will not provide
warranty coverage on
products or components
lost due to improper
installation or lack of
maintenance. Periodic
inspection and
maintenance are
required on all
fasteners.

INSTALL THESE BUTTON CAP SCREWS LAST ’

r .. o\

CENTER TRIM
ey s

PAGE

Ride On! 2

[WINDSHIELD TRIM/ROAD GLIDE INSTALLATION ]

Find more Kuryakyn products on our website. Discover other motorcycle windshields and fairings on our website.


https://www.motorcycleid.com/kuryakyn/
https://www.motorcycleid.com/windshields-fairings.html



